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Abstract: Electromagnetic radiation can cause an electron to be further broken down, because the
radiated photons have taken away a part of the static mass that originally belonged to the electron.
This article makes use of the experimental data approved by HLS800MeV electron storage ring, and
reasonably calculates that the static mass of each electron in the ring is roughly in the range of
1.16x10" to 3.23%10° (kg). Once a consensus can be reached on this, it will mean the end of the
century-long wandering of modern physics. If tracing its root, the problem has lain in relying solely
on experimental data, like a blind person crossing the river by feeling for stones, difficult to grasp the
correct research direction. So it is pointed out that based on the continuities of the development
among truths and objective things are more reliable than relying solely on experimental data.
Because the experimental data are not eternal, but any truth must be eternal. So once the two are
combined with each other, as if the blind person has regained his vision again. That is, only based on
the concepts and methods introduced in this article "The theory on thing's limits”, the correct
research direction can be ensured.
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1. Introduction

Electromagnetic radiation can cause an electron to be further broken down. The reason [!! is that
the radiated photons have taken away a part of the static mass that originally belonged to the electron.
It's like a bread that becomes two parts of the same texture after a bite. Such an obvious and

reasonable thing, but most physicists have gone so far as to turn a blind eye to it, let alone to reach a
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consensus. To this day, they still insist that an electron cannot be further broken down. So that
modern physics has been fettered here, and wandered for a century-long, with absurd theories
growing, and in a dilemma.

This article is the third part of full text of "The theory on thing's limits". When quoting from the
contents of the previous two parts of the full text, use "P1" or "P2" to index. As for the formula (1) in
P2, it can be represented by "P2-1". The rest may be inferred by analogy.

In the P1 [ the characteristic of truth was explained, that was, it could not be proved by
empirical methods, and only be approached gradually by repeated practice. And according to the
principle of inertia, the norm for identifying truth was established. Based on this, we could break
through the bondage of finite thinking, and extend the philosophy of materialism to the category of
metaphysics. Thereby restored the true nature of metaphysics. This means that metaphysics has
neither divorced from practices, nor just observed objective things with a one-sided, isolated and
static way of thought. In people's daily life, everyone has used it, just not deliberately reflected on.

In the P2 %!, based on Newton's first law, which was a basis point that could look at the overall
situation, and pointed out: Only in reality could there be inertia. And mass was the measure of
magnitude of an object's inertia. Therefore, where there was inertia, there must be matter and mass,
and vice versa.

Inertia, which also represents the continuity of the development of things. And infer from this,
as long as in reality, between any two things can certainly find a direct or indirect causality through

continuity. This is an objective law that has universal significance.

2. Modern physics in a dilemma

According to this, we can distinguish and find out those absurd theories that have resulted in
modern physics being fettered here, and wandered for a century-long, and in a dilemma.

First, as far as the uncertainty principle is concerned, it is wrong to default that an electron
cannot be further broken down. Because in this principle, the development of things loses the
continuity. Only in this way to judge, can we reasonably explain a large number of experimental data
related to it under the premise of maintaining the continuity of the development of things.

If this truth that any experimental data were not eternal could be understood at that time, so the

energy shrinkage effect that existed from high-speed electrons would be bound to be taken into
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account, and that was exactly the primary factor causing the spectrum redshift. In other words, the
Big Bang theory derived based on the Doppler Effect as experimental basis has been a paradox
because its research direction was wrong from the beginning.

Furthermore, three key errors in Einstein's special relativity have also been found out. One was
to confuse the value c of light speed in vacuum with the speed of light in reality. The second was to
offend a truth that was the absoluteness of simultaneity. The third was cyclical argumentation. That
was, first used the absolute space-time established by Newton as a criterion and came to the
conclusion that the relative space-time was curved; then once more used the relative space-time as a
criterion to change the unit length and time established by the absolute space-time.

As a truth, Newton's first law is in an ideal realm beyond the real space. Although it has been
widely applied to the physical space in reality, but it belongs to the category of metaphysics, that is,
the reason it exists is only in order to the existence of the natural science. This means that based on
the continuities of the development among truths and objective things are more reliable than relying
solely on experimental data. Because the experimental data are not eternal, but any truth must be
eternal.

For example, the elementary charge and rest mass of an electron have been still defined as
physical constants until now. And the bases for defining them were only the statistical values
obtained from a large number of the experimental data when the electrons were moving in a state of
low-speed just after they had left the atom. Since these two physical constants were statistical values,
S0 it has been proved that the static mass of every electron is different.

Of course, there is only likeness but no absolutely identical in reality, which is a truth.
Therefore, it is an inescapable objective reality that there is a small error between the static mass of
every electron and its physical constant. But if this error turns out to be hundreds of times larger than
the static mass of the electron itself, so its state has been from quantitative change to qualitative
change. Can't help but ask, are these two physical constants still reliable?

Any so-called authoritative theory must be restricted by truth ¥/ and tested by practice. The
following is to make use of the experimental data submitted by the other party to demonstrate
whether an electron would be further broken down, which is to result in the fundamental reason for

the wandering of modern physics for a century-long.



3. HLS800MeV electron storage ring

Hefei Light Source (HLS) is affiliated with the National Synchrotron Radiation Laboratory
(NSRL) and located at the University of Science and Technology of China (USTC) in Hefei City,
Anhui Province. Its main body is an electron storage ring ! that the nominal energy is 800 MeV, and

the circumference is 66.1308 meters. Its structure and layout are shown in Figure 1.

Beam injection point

The cross section of the
tubular vacuum chamber

Figurel. Layout diagram of HLS800MeV electronic storage ring

The purpose of this article is to make use of the experimental data approved by the storage ring
to demonstrate that electromagnetic radiation would be bound to cause an electron to be further
broken down. According to this, in Figure 1, only the beam injection point, the 12 piece of deflecting
magnets (Bo1-B12) at four corners, and the high-frequency cavity RF, as well as the cross section of
the tubular vacuum chamber are schematically marked.

As for the contents listed in Table 1 are part of its parameters, and also following this principle.
Among them, all the rest can be considered as approved values that have been tested in practice
except for the nominal electron energy and the number of electrons in the ring. Combined with
Figure 1 and Table 1, it can be seen that in the tubular vacuum chamber, the electron beam does

cyclotron motion at a speed v close to the value ¢ of light speed in vacuum, and the frequency is



4.5333MHz. These high-speed electrons are deflected 30 degrees at each piece of deflecting magnets.
So their trajectory through the 12 piece of deflecting magnets is exactly a circle with a radius of

R1=2.2221 meters.

Table 1. Parts of the parameters on HLS 800 MeV electron storage ring

Nominal electron energy E /MeV 800

Circulating beam intensity I /mA 300~100
Number of electrons in the ring 4.14~1.38 x<10*
Characteristic wavelength radiated Ap /nm 2.427

Curvature radius at deflecting magnets Ri/m 2.2221

Magnetic induction intensity at deflecting magnets B1/T 1.2

Cyclotron frequency of electrons fi/MHz 4.5333

Inner radius of the tubular vacuum chamber /mm 40

Furthermore, when these high-speed electrons make circular motion in each piece of deflecting
magnets, due to centripetal force, electromagnetic radiation will be randomly generated. In view of
their moving speeds are close to the value c of light speed in vacuum, also known as synchrotron

radiation. As shown in figure 2.
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Figure 2. Radiation angular distribution of moving electrons

Synchrotron radiation [/ is a new type of light source with high brightness, continuous spectrum,
good directivity and polarization. Its spectrum can range from X-ray, vacuum ultraviolet, ultraviolet
light, visible light, has been covered to infrared. As shown in Figure 2, the beam generated by

synchrotron radiation is along the tangential direction of the moving electron, and concentrated in a



very narrow cone. Its half vertex angle @/2~1/, (in radians) is very small, almost close to a

parallel beam. For example, according to the later calculation, the expansion factor ; =1564.4 of

the HLS800MeV electron storage ring, so the half vertex angle 0/2~0.64 (mrad) of the electron

synchrotron radiation in the ring can be known.

4. Radiated photons are bound to take matter away
The fact is that every one of the photons generated by synchrotron radiation transfers a

momentum p,_ (see Figure 2) in the form of an impulse to the electron emitting it, which equal to

the momentum of the photon itself, but the opposite direction, thereby causes the electron's moving
speed to decrease slightly. So the electrons do every turn in the storage ring, they can replenish
energy when passing through the high-frequency cavity RF (see Figure 1) in order to restore to the
speed before the synchrotron radiation occurred. It must be prompted here that although the speed
can be restored, but the momentum and energy not be restored, because the radiated photons have
taken away a part of the static mass that originally belonged to the electron.

As far as the formulas P2-1, P2-2, P2-3, P2-4 or P2-6 are concerned, the reason why momentum
or energy is defined, that is a measure in order to be used for the motions of matter and the
interaction between them. Objects in reality, including various particles, all can be collectively
known as matter. When there is matter, there must be inertia, and the measure of magnitude of inertia
is mass. As far as a photon is concerned, it has both momentum and energy, so how can it have no
mass? If there is no mass, who exactly is moving? And who is the object for receiving force?

As for fluctuation, it is precisely because a photon has mass and inertia, so it can present out a
continuous state of fluctuating when subjected to force. Otherwise, if the photon has no mass, there
can be no inertia. According to Newton's first law, its moving trajectory will not present out
continuity. And such a photon does not exist in reality. That is to say, any photon must have mass.

Therefore, every photon generated by synchrotron radiation would be bound to take away a part
of the static mass that originally belonged to the electron. That is to say, the energy shrinkage effect
presented by high-speed electrons, its root lies in that an electron can be further broken down. In this
regard, there has been no consensus. And this is exactly the objective fact that modern physics must

face. Any so-called authoritative statement that has attempted to circumvent it vaguely, all will
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certainly come back here again, be tested and reconfirmed. Otherwise, modern physics will be yet
fettered here and difficult to make great progress.

For more than a hundred years, physicists have generally believed that an electron would not be
further broken down. Of course, the same has been true for the deciders, developers and users of the
storage ring. For example, when measured that the beam intensity of circulating electrons dropped
from 300 (mA) to 100 (mA), they believed that the number of electrons in the ring had dropped from
41410 to 1.38>10™.

In other words, in Table 1, the default values of the charge e=e, and static mass m, =m, of
an electron were all using physical constants. Among them, e =-1.602x107°(C) was the
elementary charge of the electron, and Mm,=9.11x103'(kg) Wwas the rest mass of the electron,

including the charge-to-mass ratio e, /M, of the two, which were all physical constants.

And it is these physicists, most of them would still agree that photons should have mass when
asking themselves. It can be seen that their hearts have been ambivalent about whether an electron
will be further broken down. In view of this, we should seriously reflect, carefully verify, and
exorcise the devils in own heart in order to facilitate the consensus. This is crucial for the future

direction of physics.

5. The key lies in the invariance of the charge-to-mass ratio

According to the kinetics formulas (P2-3, P2-4 and P2-5) of Einstein's special relativity, it can

be known that wherever there is energy, there must be mass, and vice versa. Therefore, due to the

impact of electromagnetic radiation, the energy AE =Am,?y that every radiated photon has would

be bound to take away a part of the static mass Am, that originally belonged to the electron. It

shows that there is the energy shrinkage effect for high-speed electrons. Therefore, the charge e and

static mass mo of every electron have been no longer constants. But their charge-to-mass ratio

e/m,=¢,/ M, =1.7588x10"(C / kg)

has always remained the same physical constant value.
This shows that electrons and the photons radiated by electrons all are composed of the same

substance. Just like a piece of bread becomes two parts after being got a bite. Although they are
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different in size, but have the same texture. It is obvious things, and makes sense. So it is emphasized
again that the charge-to-mass ratio e/m, of an electron refers to the ratio of its charge to the
quantity of matter, which is not affected by relativistic effects and electromagnetic radiation. By the
same token, this conclusion applies not only to all electrons, also applies to all photons with the same

charge-to-mass ratio as electrons, including those photons they will radiate again.

In view of this, the formula P2-7 is relisted as follows:

1)

It can be seen that when the magnetic induction intensity B and the curvature radius R have been
designed to the given values, if the impact of electromagnetic radiation is not considered, the moving
speed v of every electron in the storage ring is also a given value, and has nothing to do with its mass.
Where ¢=299792458 (m/s) is the value of the light speed in vacuum. According to this, once it is
proved that synchrotron radiation would be bound to cause every electron in the ring to be further
broken down, it means that their charge-to-mass ratio e/m, always remains the same physical
constant value.

Substituting the curvature radius R=R1=2.2221 (m) and the magnetic induction intensity
B=B1=1.2 (T) of the electrons moving at the deflecting magnets in Table 1 into the formula (1), the
moving speed

v, = ¢ =0.999999795695c
of electrons in the storage ring can be calculated. Among them, c=299792458(m/s> is the value of

light speed in vacuum. From this, the expansion factor

7, =1/ /1— v,> / c? =1564.4
can be calculated. Then substitute it into formula P2-3, and the static mass of the electron is

according to the designer's default value m,=m,, and calculate out the energy of every electron in

the storage ring as E =m,c%y,=1.28x107"°(J), which can be converted to 800 (MeV). In other words,

the Hefei Light Source was defined as the HLS800MeV electron storage ring, which has clearly

expressed that its designers defaulted that an electron would not be further broken down.
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The particles in reality cannot be in a state that Newton's first law describes as unaffected by
forces. Therefore, random electromagnetic radiation will be generated, which is an inevitable
physical phenomenon. Due to the impact of electromagnetic radiation, every one of high-speed
electrons in the storage ring can be further broken down, thereby the energy shrinkage effect will be
presented. This means that not only the so-called 800 (MeV) is just the nominal value of the energy
of every electron in the ring, but also the static mass of every electron injected into the ring from the
linear accelerator is far less than their values of physical constants. So, what exactly is the static mass

of every electron in the ring?

6. The critical state of the beam lifetime

In August 2014, the chief engineer Li Weimin, who was in charge of the accelerator
transformation project at the time, there was a speech draft [l when introducing the debugging
situation of Hefei Light Source (HLS). Among them, two pictures (Figure 3 and Figure 4) has been
extracted from the data related to the beam lifetime.

Figure 3 was in the debugging process for the track repeatability, two relatively complete decay
process curves of the beam intensity were intercepted from the real-time monitoring chart during
July 25 to 28. Among them, the two ellipses marked by a and b were added in order to draw attention

of the two decay curves in the areas.
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Figure 3. Beam lifetime (A)
(From the lecture of introducing the debugging situation of HLS800MeV)

The process described by these two curves showed that the static mass of each electron in the
ring had decayed below a specific critical value. This meant that every photon generated by

synchrotron radiation after it transferred own momentum in the opposite direction, p =h/2,to the
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corresponding electron, would very likely cause the electron to hit the inner wall of the tubular

vacuum chamber. So all the electrons in the ring would be lost in a very short time.
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Figure 4. Beam lifetime (B)
(From the lecture of introducing the debugging situation of HLS800MeV)

Figure 4 was also in the debugging process for the track repeatability, a complete decay process
curve of the beam intensity was traced based on the real-time monitoring chart during July 17 to 18.
Among them, a, b, ¢, d and the four points marked by them, as well as the auxiliary straight line ab,
all are added for facilitate the subsequent explanation.

It can be seen from Figure 4 that in the HLS800MeV storage ring, the time for the beam
intensity to drop from 300 (mA) to 20 (mA) was about 19 hours. After that, the beam intensity
quickly dropped to 0 (mA), in less than half an hour.

According to this, it can be considered that all the electrons that had not been maintained to
point b, had hit the inner wall of the tubular vacuum chamber to be lost due to various reasons at
different moments during the 19 hours. Considering that synchrotron radiation had the characteristics
of microscopic disorder and macroscopic order, as long as the electrons that could be maintained to
the point b, the slope of their static masses to decay was just like the straight line from the point a to
point b, should be approximately linear. This meant that the auxiliary straight line ab represented the
change values of the beam intensity of all electrons that could be maintained to the point in the ring.

So it can be considered that from the point b to point c, the decay of every electron's static mass
has exceeded the critical value. In other words, synchrotron radiation caused the moving speed of
these electrons to decrease more and more, so that they could not smoothly pass through the 12 piece
of deflecting magnets and return to the high-frequency cavity RF to replenish energy. So, in less than

half an hour, more and more electrons would hit the inner wall of the tubular vacuum chamber until
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they were all lost.

7. Calculate the static mass of electron in the ring

In Figure 1 and Table 1, the schematic diagram of the tubular vacuum chamber and the
dimensions of the cross section were given. It can be seen that with the decrease of moving speed of
electrons, when the curvature radius of passing through the deflecting magnets dropped to

R,=2.2221-0.04=2.1821 (m),
they would hit the inner wall of the tubular vacuum chamber.
Substituting R=R»=2.1821 (m) and B=B1=1.2 (T) into formula (1), the moving speed

v, = £3,¢ =0.999999788136¢C

of an electron that just hit the inner wall of the tubular vacuum chamber could be calculated. And its

expansion factor
y,=1/\1-Vv,” / c*=1536.2.

In the storage ring, when high-speed electrons pass through the deflecting magnets, synchrotron

radiations were generated. The spectra of the radiated photons were continuous. It can be seen from
Table 1 that the photons with characteristic wavelengths 2 =2.427(nm) were included among
them. And at the point b, the static mass m,, of every electron had been decayed and reached

nearby the critical value.
Then, as far as a typical electron among them is concerned, in the process of passing through

the 12 pieces of deflecting magnets, since 12 photons with characteristic wavelengths

A, =2.427(nm) Were radiated, so its moving speed had been dropped to near vz, and even hit the

inner wall of the tubular vacuum chamber to be lost. According to the principle of conservation of

momentum, the following equation

Mgy 7, — (Mg, —12AMg, )V, 7,=12h/ A,
should hold. Among them, p, =m,v,», was the momentum of an electron at the point b, and
P,,= (M, —12Am,)v,y», Was the momentum that after the electron radiated 12 photons of

characteristic wavelengths 4 =2.427(nm) to cause its moving speed to drop near v,. And
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p_=h/, was the momentum of each radiated photon, where h Planck’s constant.
Since the static mass of an electron was much larger than that of a photon (m,, > Am,, x10°),

so the term am,, could be ignored. Thus, the above equation is simplified to

My, V7, —V,7,)=12h/ ;’vp :

Substituting 4, =2.427(nm) and the relevant values calculated above, the static mass

_ 12h/2,

= ~ 3.88x10*(kg)
Vivs — Va7,

mOb

of an electron near the point b could be obtained. Again according to de Broglie matter wave relation

P2-1, the wavelength
h

My, V171

A, = =3.64x10"2(m)

of the electrons near the point b could also be calculated.
So, the unknown can be obtained through the known based on the calculating formula
IX:NX err'OX(e/mO) (2)

of the beam intensity in the ring. Among them, N, is the total number of electrons, f,  is the

X

cyclotron frequency of electrons, m, is the static mass of the electron. And e/m, is the

0x

charge-to-mass ratio of electrons, which is a physical constant.
Given f, =f_ in Table 1, the beam intensity I, =1, (0.02A) at the point b in Figure 4, and
the m, =m,, that calculated above. Then, it could be calculated that the total number of electrons at

the point b was 6.46x10'3 (See Table 2).

Table 2. The change values of the electrons in the ring following the beam intensity

Beam intensity ratio Static mass /kg Actual electron number wavelength /m
300/60 116103 3.23x10% 1.21x<101?
100/50 9.70x10-% 1.29>101 1.46x101?

20/20 3.88x10% 6.46>10%3 3.64x10%2
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8. Compared with the approved values in Table 1

In Table 2, when the beam intensity decayed to 20 (mA), the static mass of every electron also
decayed to 3.88x10%* (kg), and the total number was 6.4610*%. This corresponded to the data at the
point b in Figure 4, which has been calculated previously. Combined with Figure 4, it can be seen
that the 6.4610*° electrons, when they were at the point a, the beam intensity generated was about
60 (mA). According to formula (2), it can be calculated that the static mass of every electron should
be 1.16x10°2* (kg). This means that the static mass of every electron injected from the linear
accelerator into the storage ring should be close to this value. That is, the static mass has been greatly
decayed to near 1/783 of the nominal value.

At this moment, the beam intensity in the ring was 300 (mA). According to formula (2), it is
calculated that there were a total of 3.23>10% such electrons in the ring. Which could be converted
into 4.13x<10% nominal electrons, and corresponded to the number of electrons when the beam
intensity was 300 (mA) in Table 1.

When these electrons had looped in the ring for 19 hours and reached the point b, there were left
with only 6.46>10%° electrons, whose beam intensity decayed along the straight line ab. And the rest
of the electrons, all had hit the inner wall of the tubular vacuum chamber respectively to be lost due
to various reasons at different moments during the 19 hours.

Therefore, the so-called "beam intensity ratio” in Table 2 referred to the ratio of the beam
current intensity generated by all the electrons in the ring, at a certain moment in Figure 4, to that
generated by these 6.46>10% electrons.

For another example, in Table 2, when the beam intensity in the ring was 100 (mA), the beam
intensity generated by the 6.46>10% electrons was 50 (mA), which corresponded to the point d in
Figure 4. According to formula (2), it can be calculated that when the beam intensity ratio was
100/50, the same was these 6.46>10" electrons, due to the impact of electromagnetic radiation, the
static mass of every one of them had decayed along the slope of straight line ab to 9.70x10%* (kg),
the beam intensity generated was 50 (mA). And at this moment, the beam intensity in the ring was
100 (mA). Again according to formula (2), it is calculated that the total number of electrons in the
ring was also reduced to 1.29>10%*. Which could be converted into 1.38x10** nominal electrons, and

corresponded to the number of electrons when the beam intensity was 100 (mA) in Table 1.
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9. A few notes

In Figure 4, the electron near the point ¢ can be defined like this way that when it passing

through a certain deflecting magnet, as long as to radiate a photon of the characteristic wavelength
A, =2.427(nm), its moving speed could be dropped to near v,. Such an electron was almost
impossible to return again to the high-frequency cavity RF to replenish energy. Therefore, it would

hit the inner wall of the tubular vacuum chamber to be lost in a very short time.

According to the above derivation, its static mass

My, =My, /12 ~3.23x10 * (kg)
and wavelength
h
¢ My V101

A, = =4.37x10™(m)

can also be easily calculated. This means that during the period from the point b to point c, the static

mass of every electron was roughly in this interval from m, to m,. And once entering this

interval, in less than half an hour, all the electrons would hit the inner wall of the tubular vacuum
chamber, and showed as the beam intensity to drop to 0 (mA).

In Table 2, when the beam intensity in the ring was 300 (mA), the wavelength of electrons was
1.21x1012 (m), which was also calculated according to formula P2-1. So it can be seen that the static
mass of every electron in the storage ring was roughly in the range of 1.16x10°% to 3.23x10"% (kg)
during the entire decaying process of the beam intensity. As for its corresponding wavelength, which
was roughly in this range of 1.21x101? to 4.37>10"* (m).

If you still insist that an electron cannot be further broken down, just use the beam of electrons
injected into the storage ring by the linear accelerator to do interference or diffraction experiments,
and no need to quantify accurately, only need by roughly determining the wavelength, the right or
wrong will be distinguished lightly. Because if an electron really cannot be further broken down, its
wavelength according to formula P2-1 should be near 1.55x10%° (m), which compares with every
one of electrons injected into the storage ring by the linear accelerator, the difference between the
two wavelengths is about 783 times. And if the electron beam at the point b is used for interference
or diffraction experiments, the difference will be expanded to about 2348 times.

Finally, it is pointed out that if the discussion in this article is accepted, after verification and
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reaching a consensus, we will be bound to face the current situation that is absurd phenomena
growing and hard to get rid of ingrained habits. But more importantly, we should draw lessons from
the wandering for a century-long. That is to say, an effective method should be found as soon as
possible in order to correctly grasp the research direction. And the concepts and methods introduced
in this article "The theory on thing's limits", as well as the norm for identifying truth, especially the

discussion on the continuity of the development of things, have constituted an effective solution.

10. Conclusion

Electromagnetic radiation can cause an electron to be further broken down, because the radiated
photons have taken away a part of the static mass that originally belonged to the electron. This article
makes use of the experimental data approved by HLS800MeV electron storage ring, and reasonably
calculates that the static mass of each electron in the ring is roughly in the range of 1.16x<10" to
3.23x<10°% (kg), and the corresponding wavelength of 1.21x<10*2 to 4.37>10** (m).

Such an obvious and reasonable thing, but most physicists go so far as to turn a blind eye to it,
let alone reach a consensus. To this day, they still insist that an electron cannot be further broken
down. So that modern physics has been fettered here, and wandered for a century-long, with absurd
theories growing, and in a dilemma.

If tracing its root, the problem lies in relying solely on experimental data, which is like a blind
person crossing the river by feeling for stones, difficult to grasp the correct research direction. So it
is pointed out that based on the continuities of the development among truths and objective things are
more reliable than relying solely on experimental data. Because the experimental data are not eternal,
but any truth must be eternal.

Therefore, as long as the two are combined with each other, it is as if the blind person has
regained his vision. And the concepts and methods introduced in this article "The theory on thing's
limits”, as well as the norm for identifying truth, especially the discussion on the development of
things with continuity, have provided an effective solution for how to grasp the correct research

direction.
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Yt 3. IEAWE LT FHM IR IR

T
BB TROARAR (2B4K) HEHFRE 250100

ME: EHEHTUSEETHEE PR, EAENHAOATHETREARTEFN—BIREE.
A3 FIFIHLS800MeV i FHE A C MR SC R MR, A BB HEF P TR HRELAEL 16X107
Z3.23X107™" (kg) XAMTEEA. —BREBREFBRLR, BERELAYEYXETEAENER. EXHR
B, MBETIUKBERIE, RIFRRAEACEEFXILA, RUIBRBEROFR A, TREH, 3L
ETHEESZNEMZRERAESYE, BELNUKBRTREBENTR. BALREELRRKEN, EE
RS ERKERN. FFU—BHREELE—E, RUREAXKE TR, UREAR, RAEKEAX
(OIRIER) PN ENESMNE, ARBEREROFRLTE.

XA, BRENH,; BN E4M: BT T FUERR

FEAHES: 0434.11;0572.21+1; 0413.1; 0412.1

« (EHMAr: TH (1953) , B, SiRtk. TEFH R E: Metaphysics and physics... E-mail: jiandus@163.com
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